

2.1 Magyar

$$\begin{cases} i\partial_t u = -\Delta u + |u|^{p-1}u \\ u|_{t=0} = u_0 \in H^1(\mathbb{R}^d) \end{cases} \quad 1 + \frac{4}{d} < p < d^* = \frac{d+2}{d-2} \quad d \geq 3$$

$$\lim_{t \rightarrow +\infty} \|u(t)\|_{L^{p+1}} = 0$$

$$1) \int_0^{+\infty} dt \int_{\mathbb{R}^d} \frac{|u|^{p+1}}{r} dx < +\infty$$

$$u(t) = e^{i\Delta t} u_0 - i \int_0^t e^{i(t-s)\Delta} |u_s|^{p-1} u_s ds$$

$$2) \lim_{t \rightarrow +\infty} \|u(t)\|_{L^{p+1}(|x| \geq t \log t)} = 0$$

$$u(t) \xrightarrow{t \rightarrow +\infty} 0 \quad \text{in } L^{p+1}(\mathbb{R}^d)$$

$$3) \forall \varepsilon > 0 \quad \forall a, b \in \mathbb{R}_+ \quad \exists t_0 > \max\{a, b\} \quad \forall t \in [t_0 - b, t_0]$$

$$\sup_{t \in [t_0 - b, t_0]} \|u(t)\|_{L^{p+1}(\mathbb{R}^d)} < \varepsilon$$

$$u(t) = e^{it\Delta} u_0 - i \int_0^{t-\tau} e^{i(t-s)\Delta} |u(s)|^{p-1} u(s) ds$$

$$- i \int_{t-\tau}^t e^{i(t-s)\Delta} |u(s)|^{p-1} u(s) ds$$

$$= e^{it\Delta} u_0 + W(t, \tau) + Z(t, \tau)$$

$$|u(t)|_{L^{p+1}} \leq |e^{it\Delta} u_0|_{L^{p+1}} + C \tau^{-\frac{d(p-1)-2\max\{1, p-1\}}{2(p+1)}}$$

$$+ C \tau^{1-\frac{d(p-1)}{2(p+1)}} \sup_{s \in [t-\tau, t]} |u(s)|_{L^{p+1}}^p$$

since $\varepsilon > 0$ τ_ε is defined in such a way

$$C \tau_\varepsilon^{-\frac{d(p-1)-2\max\{1, p-1\}}{2(p+1)}} = \frac{\varepsilon}{4}$$

$\exists$ t_0 sufficiently large $t \leq$

$$\sup_{s \in [t_0 - \tau_\varepsilon, t_0]} |u(s)|_{L^{p+1}} \leq \frac{\varepsilon}{4}$$

$$t_\varepsilon = \sup \{ \tilde{t} \geq t_0 \mid t \leq \tilde{t}, \sup_{s \in [t-\tau_\varepsilon, \tilde{t}]} |u(s)|_{L^{p+1}} \leq \varepsilon \forall t \in [t_0, \tilde{t}] \}$$

$$\forall t \in [t_0, t_\varepsilon) \quad |u(t)|_{L^{p+1}} \leq \varepsilon$$

$$\text{since } t_\varepsilon < +\infty \Rightarrow |u(t_\varepsilon)|_{L^{p+1}} \leq \varepsilon$$

$$\text{In fact } |u(t_\varepsilon)| = \varepsilon$$

$$|u(t)|_{L^{p+1}} \leq |e^{it\Delta} u_0|_{L^{p+1}} + C \tau_\varepsilon^{-\frac{d(p-1)-2\max\{1,p-1\}}{2(p+1)}} \\ + C \tau_\varepsilon^{1-\frac{d(p-1)}{2(p+1)}} \sup_{s \in [t-\varepsilon, t]} |u(s)|_{L^p}^p \\ t = t_\varepsilon$$

$$\varepsilon < \frac{\varepsilon}{2} + \left(C \tau_\varepsilon^{1-\frac{d(p-1)}{2(p+1)}} \varepsilon^{p-1} \right) \varepsilon$$

Supponiamo che si abbia

$$\left[C \tau_\varepsilon^{1-\frac{d(p-1)}{2(p+1)}} \varepsilon^{p-1} < \frac{1}{2} \right] \text{ allora}$$

$$\text{Allora } \varepsilon < \frac{\varepsilon}{2} + \frac{\varepsilon}{2} = \varepsilon \quad \varepsilon < \varepsilon \text{ assurdo}$$

$$t_\varepsilon < +\infty$$

$$\tau_\varepsilon^{1-\frac{d(p-1)}{2(p+1)}} \varepsilon^{p-1} \geq \frac{1}{2C}$$

$$(4) \quad C \tau_\varepsilon^{-\frac{d(p-1)-2\max\{p-1,1\}}{2(p+1)}} (p-1) = \varepsilon^{p-1}$$

$$\tau_\varepsilon^{1-\frac{d(p-1)}{2(p+1)} - \frac{d(p-1)^2 - 2(p-1)\max\{p-1,1\}}{2(p+1)}} \geq C_1 > 0$$

$$2(p+1) - d(p-1) - d(p-1)^2 + 2(p-1)\max\{p-1,1\} \\ = (p-1)(2\max\{p-1,1\} - d - d(p-1)) + 2(p+1) \\ = (p-1)(2\max\{p-1,1\} + 2 - d(p-1)) - d(p-1) - \underbrace{2(p-1) + 2(p+1)}_4 \\ = (p-1)(2\max\{p-1,1\} + 2 - d(p-1)) - d(p-1) + 4$$

$$\text{Se } p-1 \leq 1$$

$$(p-1)(4 - d(p-1)) - d(p-1) + 4 =$$

$$= 4p - 4 - d(p^2 - 2p + 1) - dp + d + 4$$

$$= p[4 - dp + 2d - d] = p[4 - dp + d] =$$

$$= p(4 + d - dp) = 4d\left(1 + \frac{4}{d} - p\right) < 0$$

$$p-1 \geq 1$$

$$(p-1) \left(2 \max \{ p-1, 1 \} + 2 - d(p-1) \right) - d(p-1) + 4$$

$$= (p-1) (2(p-1) + 2 - d(p-1)) - d(p-1) + 4$$

$$= (p-1) (2 - (d-2)(p-1)) - d(p-1) + 4 \quad d \geq 4$$

$$\leq (p-1) (2 - 2(p-1)) - 4(p-1) + 4$$

$$= -2(p-1)(p-2) - 4(p-1) + 4$$

$$= -2(p-1)p + 4(p-1) - 4(p-1) + 4 < 0$$

$$p-1 > 1$$

$$p(p-1) > 2$$

$$2 p(p-1) > 4$$

$$d=3$$

$$P-1 > 1$$

$$\alpha = P-1$$

$$(P-1) \left(2 \max \{ P-1, 1 \} + 2 - d(P-1) \right) - d(P-1) + 4$$

$$(P-1) \left(2(P-1) + 2 - 3(P-1) \right) - 3(P-1) + 4$$

$$= \alpha (2 - \alpha) - 3\alpha + 4$$

$$= -\alpha^2 - \alpha + 4 = -q(\alpha) < 0$$

$$\alpha^2 + \alpha - 4 = 0 \quad \alpha_{\pm} = -\frac{1}{2} \pm \frac{\sqrt{17}}{2}$$

$$\alpha_- < 0 < \alpha_+$$

$$\text{Per } \alpha > \alpha_+ \text{ ho } q(\alpha) > 0$$

$$\text{Se } P-1 > \alpha_+ = \frac{\sqrt{17}}{2} \approx \frac{1}{2} \text{ allora ho il } < 0$$

$$\text{Cioè per } d=3$$

$$P > \frac{\sqrt{17} + 1}{2} > \frac{7}{3}$$

obteniamo il risultato

$$2 \geq P > \frac{4}{3} = \frac{7}{3}$$

Deift - Trubow, Tz CPAM vol XX
 XXXII 121-251 (1979)

$$\frac{d^2}{dx^2} u = -k^2 u \quad u = e^{\pm i k x}$$

$$\left(-\frac{d^2}{dx^2} + q(x) \right) u = k^2 u$$

$$q(x) \in L^1(\mathbb{R})$$

$$\langle x \rangle q \in L^1(\mathbb{R})$$

$$\eta(x) = \int_x^{+\infty} |q(y)| dy,$$

$$\gamma(x) = \int_x^{+\infty} (y-x) |q(y)| dy$$

$$k \in \mathbb{C} \quad \operatorname{Im} k \geq 0 \quad \exists$$

$$(-\partial_x^2 + V) f_j(x, k) = k f_j(x, k) \quad j = 1, 2$$

$$f_1(x, k) = e^{i x k} m_1(x, k) \quad m_1(x, k) \xrightarrow{x \rightarrow +\infty} 1$$

$$f_2(x, k) = e^{-i x k} m_2(x, k) \quad m_2(x, k) \xrightarrow{x \rightarrow -\infty} 1$$

$$f(x, k) = f_1(x, k) \quad m(x, k) = m_1(x, k)$$

Then $\exists m(x, k)$ comp w.p.w t_c .

$$1) \quad |m(x, k) - 1| \leq e^{\frac{\eta(x)}{|k|}} \frac{\eta(x)}{|k|}$$

$$\eta(x) = \int_x^{+\infty} |q(y)| dy$$

$$2) \quad \exists K \quad t_c.$$

$$|m(x, k) - 1| \leq K \frac{(1 + \max\{-x, 0\}) \int_x^{+\infty} (1 + |y|) |q(y)| dy}{1 + |k|}$$

$$(-\partial_x^2 + q(x)) f(x, k) = k^2 f(x, k) \quad [u, v] =$$

$$(+\partial_x^2 + k^2) f(x, k) = +q(x) f(x, k) \quad = (u'v - uv')$$

$$f(x, k) = e^{ikx} \int \frac{e^{-ikx} q(x) f(x, k) dx}{[e^{ikx}, e^{ikx}]} \\ - e^{-ikx} \int \frac{e^{ikx} q(x) f(x, k) dx}{[e^{ikx}, e^{-ikx}]}$$

$$f(x, k) = e^{ikx} - \frac{e^{ikx}}{2ik} \int_x^{+\infty} e^{-iky} q(y) f(y, k) dy \\ + \frac{e^{-ikx}}{2ik} \int_x^{+\infty} e^{iky} q(y) f(y, k) dy$$

$$m(x, k) = 1 - \frac{1}{2ik} \int_x^{+\infty} q(y) m(y, k) dy \\ + \frac{1}{2ik} \int_x^{+\infty} e^{2ik(y-x)} q(y) m(y, k) dy$$

$$k = k_R + i k_I \quad k_I \geq 0$$

$$\operatorname{Re} \{ 2ik(y-x) \} = -2k_I \underbrace{(y-x)}_{\geq 0} \leq 0$$

$$m(x, k) = 1 + \int_x^{+\infty} D_k(y-x) q(y) m(y, k) dy$$

$$D_k(y-x) = \frac{e^{2ik(y-x)} - 1}{2ik} =$$

$$= \int_0^{y-x} e^{2ikt} dt$$

$$|D_k(y-x)| \leq \frac{1}{|k|} \sqrt{y-x}$$

$$\underline{m(x, k) = 1 + \int_x^{+\infty} D_k(y-x) q(y) m(y, k) dy}$$

$$m(x, k) = 1'' + \sum_{n=1}^{\infty} m_n(x, k)$$

$$m_n(x, k) = \int_x^{+\infty} D_k(y-x) q(y) m_{n-1}(y, k) dy$$

$$= \int_x^{+\infty} D_k(x_1-x) q(x_1) m_{n-1}(x_1, k) dx_1$$

$$= \int_{x \leq x_1 \leq \dots \leq x_n} D_k(x_1-x) D_k(x_2-x_1) \dots D_k(x_n-x_{n-1}) q(x_1) \dots q(x_n) dx_1 \dots dx_n$$

$$|m_n(x, k)|$$

$$\leq \int_{x \leq x_1 \leq \dots \leq x_n} |D_k(x_1 - x) D_k(x_2 - x_1) \dots D_k(x_n - x_{n-1}) q(x_1) \dots q(x_n)| dx_1 \dots dx_n$$

$$\leq \int_{x \leq x_1 \leq \dots \leq x_n} \frac{1}{|k|^n} |q(x_1)| \dots |q(x_n)| dx_1 \dots dx_n$$

$$= \frac{1}{|k|^n} \underbrace{\left(\int_x^{+\infty} |q(y)| dy \right)^n}_{n!}$$

$$\frac{d}{dx} \int_x^{+\infty} |q(x_1)|$$